@ Co/b/ber Creek

Handleset Installation Instructions

[The Inatructions provids: you Information on haw to BEFORE PROCEEDING: some models are supplied whth adjustatle laich, to center of lock elther B0mm (2-3/87) or TOmm (2-34%). supplied wih acjustable | may adjust the backset if
finstall your lock Read the carefully 1.CHECK BACKSET OF YOUR LOCK 2. CHECK BACKSET OF YOUR DOOR 3. MATCH BACKSET OF YOUR LOGK WITH BACKSET OF YOUR DOOR mm"#}ﬁz-
betors Installaion. ummdmumm'“wqm‘ ) or TOmm (2347, BacksetIs the dtomdooredge  Maks suns your lock has the same backsst sizs s your door. For ook
= Backset 1. MARK DOOR = Thambplece 6. INSTALL HANDLESET
=] .
ROl e Doadbalt lock A Start approximately 915mm (367 fom floor, | | ) weae | e ot b paring spindi Adjust Backset Instructions
Eoia aaninr ‘aloct backest, B0 (2-3%°)cr T0mm -5/ = through Iatch and kower screw post trough A 10. ADJUST DEADBOLT FROM
T e e ol s agply Woh adge of [ A screw post hole from outskde o door s shown. Change lever 60mm (2-3/8") TO 70mm (2-3/4%)
1 Handlesat goor. ||| Handisast \ Prees tightly against door face, Insert mounting 80mm screw hole
N hole center B. Mark hole center on door face for deadbolt lock. | | Laten ¢ her from Inside of door, Desdbolt Toraus This model Is supplled wih adjustable laich,
hole centsr 244mm (B-TH8) ©- Mark hole center on door face for handiesst. @ bullbnulw \ — T fitting BO0mm (2-3/87) or TOmm (2-3/4) backeet
Gip Jower D. Mark hole center on door face for grip handle ) i Retract v Adjustable deadbolt was preset at S0mm
screw poet hole center lower screw post. . Bcrew past (2-3/8") backset poeMon, If TOmem (2-344%)
Helght: E. Mark two hole centers In door adge for latchas. ﬂ\ backset ks required, pleass follow steps as
~e e g1 Bmm (387} from floor ! Washar Crank Tarque apring Delow.
A Use fiat head to rotats
2. BORE FIVE HOLES 7. INSTALL INSIDE KNOB (LEVER) B orank and M:mﬂdﬂdbulhhm
A. Orll a 51mm (27 hole through door face. UNIT — posban,
- B, Drll & 54mm (2-1/8%) hole through door face, A Instal Inskde knob (isver) —
oo mnf;)'&mmmmm ©. Dl 10nwin (247) hole trocgh door ece. e i s pose, d sphde s || U VB - ® Ve o s and forao 8ping.
0/ D'%T:m“':ﬂm::.wm'z:mm engaged with Inalde machanism. Pull out = pull extention plate all the way out,
ande B. Insart It hales In Be sure tha TOmm (2-3/4") screw holea are
B. Drll 54mm (2-1/8) hole sldes of door In A, B & C to-avold splitiing. wnm.m:“m“ rowe. c Torque plate | pronedy aligned and change lever sildes nio
0/ C. Adjust all mouniing screws as required for scrme hols original poeition.
smooth operation. . The deadbolt Is now set for 70mem (2-314%)
/"""D"" 10mm () hola Not: Check oparation of lock wih backssl.
and knob 1o ba sure that spindle Is propordy D. Deadbolt may be adjusted back to 80mm
- . . Changs lover  Toriue (2-3/87) backsat by retracting the deadbolt to
spring the unjockad poalion, pushing up the change
lever and moving the extention plate back
i iz original posltion. Bs sure the G0mm
(2-3/8%) screw holes are properly aligned and
3. INSTALL LATCH AND DEADBOLT A p\circnson— 8. INSTALL SINGLE CYLINDER | ————
A B. c. "
_ "~ =" | A lnserlatch (deadbointo hole in door edge, A. Plae cutakde cylindar Lk through
— ~ keeping laich face paraliel to edge of door. ad prées Sguinet door fce, Maldng corten |
@ @ Mark outline of latch face and rsmeove latch. thet talpieca s horizontelly Inseried lnko crank Extentlon plate
Crank B. Chissl 3mm (1/2") desp or unil kich facs Is m‘;ﬁ““:‘*:ﬂhmw —
up with deadbolt holes. A
s con e . Fiotate thumbtum 1o vertcal posiion and 11. ADJUST LATCH FROM
@ {) @ C. Insert latch (deadbolt) Into hole and tighten llp et unt anto e 60mm (2-3/8") TO 70mm (2-3/4")
wood screws. B.
. C. Insart two mounting screws through holss A. Adjustabls lsich was preast st 80mm (2-3/8%)
A - - "“"'"';l'“""‘““""“"""“m on thumblum unkt and deadbolt, engaging O © Spindie cam backsst position.
Laich - wction. screw holas in outslda cylinder body, then = ©
Bevel Chisal 3mm 2. Crank hole muet be In down position, B. Kaap apindils cam In comect position as
(1) oy D o e e oo, || B- =_Slide Adust by the spind)
. between humb and Index, sightly push down
A. B. 4. MARK JAMB AND OUTLINE oy T eclust yinr unk end dghten LF@; spindis cam snd slida to right side.
OF STRIKES y t
Note: hele must be ln down posltion. .
A. (1) Close door untl laichbolt iouches door jamb. Kay & Push e o iy ot o Mo £ 25
{2) Mark hortzontal center Bne along latch face. 9. INSTALL DOUBLE CYLINDER To re-adjust leich back o 80mm (2-38%)
B.(1) Measure one hal of door thickness from A Placa outside cylinder unit through escutcheon] S0 backset, Just push slide extenaion back o
door stop and mark vertical centar Ine. Tallplece ‘and prass agalnst door facs, making cartain s, A loft side.
Hortzantal {2) Extend hortzontal center lIne and vertical that the outsice taliplece Is horzontally
e cartter line, then mark center polrts for strikes ! Insertod o cranik hole. F0mm
" Far doubls B. Push Inside cylinder unk and outside cylinder
(3) Place sirikes In poslilon and mark outline of crank unit that the
sirkes and romove sirkes, \ fogethar. makng oertaln that the inskde A . Mortseinlaich 12. ADJUST 4-WAY LATCH
«@ B taliplace Ia vertically Insaried Info crank hole.
Mote: Koy holo must be In down posttion. O T Some kicksets are supplied with
A, C. D 5.DRILL HOLES AND INSTALL Soskis cyllnder Inaide oinger | | G- Tho Inelde tallpies should be nsertsd A-way latch which can it slther
28mm— N [ STRIKES Into the outaide tallplece. B = 2 80mm (2-3/87) or 7TOmm (2-34") backest and
(1-11 A. Drll a 26mm (1%) hole, 28mm (1-1/8") deop D. Insert two mounting sorews through /(EZ'““ also # mortisa-in or drive-in.
deap / In door jamb at the upper center for deadbolt. countersunk holes on Inskde cyfinder body and &%ﬂ A This latch Is for mortise-in.
[Btriles B. Drll & 25mm (17) hols, 14mm (8/167) deep deadbok, angaging screw hales b cutslde B. Rotats latch face dockwise 20 degrees and
B I door jami 1 the lower center for latch. ey Doy ST gkien b sma G Pull cut pull out lsich face.
1mm 1 C. Chisal outline for strikas 1.6mm (1/167) deep . Taat lock for smooth aparation. If not amaoth C. This latch ks for drive-In.
(eMe=) ) - or untl| strikes &ré flush with door jamb. ) 3 unit and Detverdn lakch
desp D, Inatall strikss and tightsn Wwood screws, armiy. 9

Call: 951-600-9144 « www.CopperCreekHardware.com






